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©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010 
SENIOR SECONDARY EXAMINATION - 2010 
flÒ∑§ÁÀ¬∑§ flª ̧III  ( OPTIONAL GROUP III — COMMERCE ) 

‹πÊ‡ÊÊù ó ÁmÃËÿ ¬òÊ 
( ACCOUNTANCY — Second Paper ) 

‚◊ÿ — 3 
1
4  ÉÊá≈U  

¬ÍáÊÊZ∑§ — 60 

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ – 

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 

 2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ 
„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ – 

  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥ – 

  All the questions are compulsory. There are internal choices in 

Question Nos. 23 and 24. 
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 4. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ – 

  Write the answer to each question in the given answer-book 

only. 

 5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ 

‚ÊÕ ‚ÃÃ˜ Á‹π¥ – 

  For questions having more than one part carrying similar 

marks, the answers of those parts are to be written together in 

continuity. 

 6. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U 

Áfl∑§À¬ ( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ 

ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —  

  There are four parts ( i, ii, iii and iv ) in Question No. 1. Each 

part has four alternatives A, B, C and D. Write the letter of the 

correct alternative in the answer-book at a place by making a 

table as mentioned below : 

   ¬̋‡Ÿ ∑̋§◊Ê¢∑§ 
Question No. 

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U  
Correct letter of 

the Answer 

 

 1.       (i)    

 1.       (ii)   

 1.       (iii)   

 1.       (iv)   
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1. (i) ‚Ê◊ÍÁ„U∑§ ŒŸŒÊ⁄U πÊÃ ◊¥ Á‹πÊ ¡ÊŸ flÊ‹Ê ‹ŸŒŸ „ÒUU  
 (•) •ŸÊŒÎÃ ¬˝Êåÿ Áfl¬òÊ (’) ¬˝Êåÿ Áfl¬òÊ ∑§Ê ÷ÈªÃÊŸ 

 (‚)  ¬˝Êåÿ Áfl¬òÊ ∑§Ê ’øÊŸ (Œ) ¬˝Êåÿ Áfl¬òÊ ∑§Ù ÷ÈŸÊŸÊ – 
 The transaction to be written in total Debtors Account is  

 (A) Dishonoured Bills Receivable 

 (B) Payment of Bills Receivable 

 (C) Endorsement of Bills Receivable 

 (D) Discounting of Bills Receivable. 1
2   

(ii) ∞∑§ √ÿÊ¬Ê⁄UË Ÿ 1,00,000 L§0 Ÿ∑§Œ, 20,000 L§0 ∑§Ê »§ŸË¸ø⁄U ∞fl¢ 10,000 L§0 
∑§Ê ◊Ê‹ ‚ √ÿÊ¬Ê⁄U ‡ÊÈM§ Á∑§ÿÊ – fl·¸ ∑§ Œı⁄UÊŸ ©U‚Ÿ 2,000 L§0 ¬˝ÁÃ ◊Ê„U ÁŸ∑§Ê‹ 
ÃÕÊ 20,000 L§0 •ÁÃÁ⁄UQ§ ¬Í°¡Ë ‹ªÊÿË – ¬˝Ê⁄UÁê÷∑§ ¬Í°¡Ë ∑§Ë ⁄UÊÁ‡Ê „UÙªË  

 (•) 1,34,000 L§0 (’) 1,30,000 L§0 

 (‚) 1,04,000 L§0 (Œ) 1,00,000 L§0 – 
 A trader started business with Rs. 1,00,000 in cash, Rs. 20,000 

furniture and goods of Rs. 10,000. During the year he withdrew 
Rs. 2,000 per month and introduced Rs. 20,000 as additional 
capital. The amount of opening capital will be  

 (A) Rs. 1,34,000 (B) Rs. 1,30,000 

 (C) Rs. 1,04,000 (D) Rs. 1,00,000. 1
2   

(iii) •¢‡Ê „U⁄UáÊ ∑§ ‚◊ÿ •¢‡Ê ¬Í°¡Ë πÊÃÊ ŸÊ◊ Á∑§ÿÊ ¡ÊÃÊ „ÒU 
 (•) ¡éÃ •¢‡ÊÙ¥ ¬⁄U ¬˝Ê# ⁄UÊÁ‡Ê ‚   

 (’) ¡éÃ •¢‡ÊÙ¥ ¬⁄U ’∑§ÊÿÊ ⁄UÊÁ‡Ê ‚  
 (‚) ¡éÃ •¢‡ÊÙ¥ ¬⁄U ◊Ê°ªË ªÿË ⁄UÊÁ‡Ê ‚   
 (Œ) ¡éÃ •¢‡ÊÙ¥ ¬⁄U ¬˝Ê# ¬˝ËÁ◊ÿ◊ ⁄UÊÁ‡Ê ‚ – 
 At the time of forfeiting of share, Share Capital Account is to be 

debited 

 (A) by the amount received on forfeited shares 

 (B) by the amount due on forfeited shares 

 (C) by the amount called on forfeited shares 

 (D) by the amount received as premium on forfeited shares. 

     1
2   
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(iv) ¬ËÿÍ· Á‹Á◊≈U«U Ÿ fl·¸ 1995 ◊¥ 10% ¿ÍU≈U ¬⁄U 10,000 ó 9% •Áœ◊ÊŸ •¢‡Ê 
¬à̋ÿ∑§  100 L§0 ∑§Ê ¡ŸÃÊ ◊¥ ÁŸªÁ̧◊Ã Á∑§ÿ – ∑§ê¬ŸË ßŸ •¢‡ÊÙ¥ ∑§Ê fl·¸ 2010 ◊¥ 
‡ÊÙœŸ ∑§⁄UŸÊ øÊ„UÃË „ÒU – ß‚∑§ Á‹∞ 10 L§0 flÊ‹ ‚◊ÃÊ •¢‡Ê 20% ¬˝ËÁ◊ÿ◊ ¬⁄U 
¡ŸÃÊ ◊¥ ÁŸªÁ̧◊Ã Á∑§ÿ – ÁŸªÁ̧◊Ã •¢‡ÊÙ¥ ∑§Ë ‚¢ÅÿÊ „ÒU  

 (•) 72,000 •¢‡Ê  

 (’) 80,000 •¢‡Ê 

 (‚) 90,000 •¢‡Ê  

 (Œ) 1,00,000 •¢‡Ê – 

 Piyush Ltd. issued 10,000 — 9% preference shares of Rs. 100 

each in the public at 10% discount in the year 1995. Company 

wants to redeem these shares in the year 2010. For this purpose 

equity shares of Rs. 10 each issued @ 20% premium in the 

public. The number of issued shares shall be 

 (A) 72,000 shares  

 (B) 80,000 shares 

 (C) 90,000 shares  

 (D) 1,00,000 shares.   1
2   

2. “•¬ÍáÊ¸ ‹πÊ ÁflÁœ” ∑§Ë ŒÙ Áfl‡Ê·ÃÊ∞° Á‹Áπ∞ – 

 Write two characteristics of ‘Incomplete Records method'. 1 

3. ∞∑§ Ä‹’ ◊¥ ¬Í°¡ËªÃ ¬˝ÊÁ# ∑§ ŒÙ ©UŒÊ„U⁄UáÊ Á‹Áπ∞ –  

 Write down two examples of capitalised receipts in a club. 1 

4. ¬˝ÁÃ÷ÍÁÃ ¬˝ËÁ◊ÿ◊ ∑§Ë ⁄UÊÁ‡Ê ∑§ ŒÙ ©U¬ÿÙª Á‹Áπ∞ – 

 Write two uses of the amount of securities premium. 1 
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5. ÁflÃ⁄UáÊ ©U¬Á⁄U√ÿÿ ∑§ øÊ⁄U ©UŒÊ„U⁄áÊ Á‹Áπ∞ –  

 Write four examples of Distribution Overhead. 1 

6. ≈ÒU‹Ë ‚ÊÚç≈Uflÿ⁄U ∑§ ÁŸ◊Ê¸ÃÊ ∑§Ê ŸÊ◊ Á‹Áπ∞ –  

 Write the name of the manufacturer of Tally software. 1 

7. ß¸-◊‹ ‚ÊÚç≈Uflÿ⁄U ◊¥ “ßŸ ’ÊÚÄ‚” ∑§Ê ©U¬ÿÙª Á‹Áπ∞ –  

 Write the use of ‘In Box’ in E-mail software. 1 

8. ∑˝§ÿ 1,00,000 L§0, ¬˝Ê⁄UÁê÷∑§ ⁄U„UÁÃÿÊ 25,000 L§0, •ÁãÃ◊ ⁄U„UÁÃÿÊ 45,000 L§0, ◊¡ŒÍ⁄UË 
10,000 L§0, »§ŸË¸ø⁄U ∑˝§ÿ 5,000 L§0, ‹ÊªÃ ¬⁄U „UÊÁŸ 10% – ‚∑§‹ „UÊÁŸ ∞fl¢ Áfl∑˝§ÿ ∑§Ë 
⁄UÊÁ‡Ê ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ –  

 Purchases Rs. 1,00,000, Opening Stock Rs. 25,000, Closing Stock 

Rs. 45,000, Wages Rs. 10,000, Furniture purchased Rs. 5,000, Loss 

on cost 10%. Calculate gross loss and amount of sales. 2 

9. ªÒ⁄U √ÿÊ¬ÊÁ⁄U∑§ ‚¢SÕÊ•Ù¥ ◊¥ ◊Í‹÷ÍÃ ‚ÍøŸÊ•Ù¥ ∑§ Á‹∞ ⁄UπË ¡ÊŸ flÊ‹Ë ¬ÈSÃ∑§Ù¥ ∑§ ŸÊ◊  
Á‹Áπ∞ – 

 Write the names of the books kept for the purpose of finding basic 

information in non-trading concerns. 2 

10. ÁŸêŸÁ‹ÁπÃ ‚ÍøŸÊ•Ù¥ ‚ “Á◊üÊÊ ∑§ÀÿÊáÊ ∑§ãº˝” ∑§Ê ¬˝Ê⁄UÁê÷∑§ ¬Í°¡Ë ∑§Ù· ôÊÊÃ ∑§ËÁ¡∞ — 
•Êÿ-√ÿÿ πÊÃÊ 

 √ÿÿ L§0 •Êÿ  L§0        
flÃŸ ( ’∑§ÊÿÊ flÃŸ 1,000 L§0  Á∑§⁄UÊÿÊ (∞∑§ ◊Ê„U ∑§Ê ªÃ fl·¸ 
 ‚Á„UÃ ) 15,000  ∑§Ê •Áª˝◊ ¬̋Ê# ‚Á„UÃ ) 12,000 

ÁflôÊÊ¬Ÿ 6,000 øãŒÊ 18,000 

◊ÍÀÿOÔUÊ‚ ( »§ŸË¸ø⁄U ¬⁄U 10% ) 2,000 éÿÊ¡ ( 10% SÕÊÿË 
’øÃ 11,000   ¡◊Ê ¬⁄U ) 4,000 

         
  34,000  34,000 
         

 ¬˝Ê⁄¢UÁ÷∑§ ⁄UÙ∑§«∏U ‡Ê· 22,000 L§0 – 
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 From the following information, calculate opening capital fund of 
‘Mishra Welfare Centre’ : 

Income & Expenditure Account 

 Expenses Rs. Income  Rs. 
        
To Salary ( including   By Rent ( including one 
 outstanding salaries   month received in 
 Rs. 1,000 ) 15,000  advance of last year ) 12,000 
To Advertisement 6,000 By Subscription 18,000 
To Depreciation ( 10% on  By Interest ( 10% on  
 furniture ) 2,000  fixed deposit ) 4,000 
To Surplus 11,000 
         
  34,000  34,000 
         

 Opening cash balance Rs. 22,000. 2 

11. ÁŸêŸÁ‹ÁπÃ ◊ŒÙ¥ ∑§Ë ‚„UÊÿÃÊ ‚ •Êÿ-√ÿÿ πÊÃ ◊¥ Á‹πË ¡ÊŸ flÊ‹Ë «UÊ∑§ Á≈U∑§≈U ∑§Ë ⁄UÊÁ‡Ê 
ôÊÊÃ ∑§ËÁ¡∞ — 

 fl·¸ 2008-09 «UÊ∑§ Á≈U∑§≈ π⁄UËŒ  —  1,500  L§0 

 1 •¬˝Ò‹, 2008 ∑§Ù «UÊ∑§ Á≈U∑§≈U ∑§ Á‹∞ ’∑§ÊÿÊ  —  200  L§0 

 1 •¬˝Ò‹, 2008 ∑§Ù «UÊ∑§ Á≈U∑§≈U ∑§Ê •Áª˝◊ øÈ∑§ÊÿÊ  —  100  L§0 

 31 ◊Êø¸, 2009 ∑§Ù «UÊ∑§ Á≈U∑§≈U ∑§ Á‹∞ ’∑§ÊÿÊ —  400  L§0 

 31 ◊Êø¸, 2009 ∑§Ù «UÊ∑§ Á≈U∑§≈U ∑§Ê •Áª˝◊ øÈ∑§ÊÿÊ  —  300  L§0 

 With the help of the following items calculate amount of postage to be 

shown in Income and Expenditure Account : 2 

 Year 2008-09 Postage stamps purchased  — Rs. 1,500 

 1st April, 2008 outstanding for Postage stamps — Rs. 200 

 1st April, 2008 paid in Advance for Postage stamps — Rs. 100 

 31st March, 2009 outstanding for Postage stamps — Rs. 400 

 31st March, 2009 paid in Advance for  

   Postage stamps — Rs. 300 
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12. ÔÁŸêŸÁ‹ÁπÃ ◊ŒÙ¥ ∑§Ù •Êÿ-√ÿÿ πÊÃ ∞fl¢ Áø_ÔU ◊¥ Á‹Áπ∞ — 

  ÷flŸ ∑§Ù·   1,00,000  L§0 

  ÷flŸ ¬⁄U √ÿÿ   80,000  L§0 

  π‹ ∑§Ù·   80,000  L§0 

  π‹ ¬⁄U √ÿÿ   85,000  L§0 

 Write the following items in Income & Expenditure Account and in 

Balance Sheet : 2 

  Building Fund  Rs.  1,00,000 

  Expenses on Building  Rs.  80,000 

  Sports Fund  Rs.  80,000 

  Expenses on Sports  Rs.  85,000 

13. ∞∑§ ∑§ê¬ŸË ¬˝àÿ∑§ 10 L§0 flÊ‹ •¬Ÿ 2,00,000 •¢‡ÊÙ¥ ¬⁄U ¡ŸÃÊ ‚ ¬Á̋Ã •¢‡Ê •ÊflŒŸ ¬⁄U 

4 L§0, ’¢≈UŸ ¬⁄U ¬˝ËÁ◊ÿ◊ ‚Á„UÃ 6 L§0 ∞fl¢ •ÁãÃ◊ ◊Ê°ª ¬⁄U 2 L§0 ⁄UÊÁ‡Ê ¬˝Ê# ∑§⁄UÃË „ÒU – fl„U 

•ÁÃÁ⁄UQ§ ⁄UÊÁ‡Ê ∑§Ê ÁŸª¸◊Ÿ ◊ÍÀÿ Ã∑§ ©U¬ÿÙª ∑§⁄UÃË „ÒU – ÁŸêŸ ‚Ê⁄UáÊË ∑§Ë ‚„UÊÿÃÊ ‚ •ÊflŒŸ 

⁄UÊÁ‡Ê ∑§Ê ÁflÁ÷ÛÊ ◊Ê°ªÙ¥ ¬⁄U ‚◊ÊÿÙ¡Ÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —  

   üÊáÊË •ÊflÁŒÃ •¢‡Ê ’¢Á≈UÃ •¢‡Ê 

   ¬˝Õ◊ 10,000 — 

   ÁmÃËÿ 1,20,000 1,00,000 

   ÃÎÃËÿ 3,20,000 1,00,000 
        

    4,50,000 2,00,000 
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 A company received amount per share Rs. 4 on application. Rs. 6 on 

allotment including premium and Rs. 2 on final call from public on its 

2,00,000 shares of Rs. 10 each. It used up additional amount up to 

issued price. With the help of the following table, calculate the 

adjustment of application money on various calls : 2 

   Categories Share applied Share allotted  

   First 10,000 — 

   Second 1,20,000 1,00,000 

   Third 3,20,000 1,00,000 
        

    4,50,000 2,00,000 
        

14. ‚È◊Ÿ ∞á«U ∑§ê¬ŸË ‚Ëœ „UË 10,000 — 10% •Áœ◊ÊŸ •¢‡Ê ¬˝àÿ∑§ 100 L§0 ∑§Ê ‡ÊÙœŸ 
‚Ê◊Êãÿ ‚¢øÿ ‚ ∑§⁄UÃË „ÒU – •Êfl‡ÿ∑§ ¬˝ÁflÁCÔUÿÊ° ∑§ËÁ¡∞ – 

 Suman & Company directly redeemed 10,000 — 10% preference 

shares of Rs. 100 each from general reserve. Make necessary entries. 2 

15. ∞∑§ ∑§ê¬ŸË Ÿ 31 ◊ß¸, 2009 ∑§Ù 1,000 ‚◊ÃÊ •¢‡ÊÙ¥ ¬⁄U 2 L§0 ¬˝ÁÃ •¢‡Ê ¬˝Õ◊ ◊Ê¢ª ∑§Ë 
⁄UÊÁ‡Ê •Áª˝◊ ’¢≈UŸ ⁄UÊÁ‡Ê ∑§ ‚ÊÕ ¬˝Ê# ∑§⁄U ‹Ë – ¬˝Õ◊ ◊Ê¢ª 31 •ªSÃ, 2009 ∑§Ù Œÿ ÕË – 

 •Áª˝◊ ¬˝Ê# ⁄UÊÁ‡Ê ‚ê’ãœË •Êfl‡ÿ∑§ ¬˝ÁflÁCÔUÿÊ° ∑§ËÁ¡∞ – 

 A company received money in advance of 1st call on 1,000 equity 

shares @ Rs. 2 each on 31st May, 2009 with allotment money. 1st call 

money was due on 31st August, 2009.  

 Make necessary entries relating to advance money received. 2 
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16. ÁŸêŸ ‚ÍøŸÊ•Ù¥ ‚ ∑È§‹ ‹ŸŒÊ⁄UÙ¥ ∑§Ê •ÁãÃ◊ ‡Ê· ôÊÊÃ ∑§ËÁ¡∞ — 

 (i) ¬˝Ê⁄UÁê÷∑§ ‡Ê· 10,000 L§0 

 (ii) ∑È§‹ ∑˝§ÿ ( ©UœÊ⁄U ∑˝§ÿ 80,000 L§0 ‚Á„UÃ ) 1,00,000 L§0 

 (iii) ‹ŸŒÊ⁄UÙ¥ ∑§Ù Ÿ∑§Œ ÷ÈªÃÊŸ 40,000 L§0 

 (iv) Œÿ Áfl¬òÊ SflË∑§Ê⁄U 15,000 L§0 

 (v) ∑˝§ÿ flÊ¬‚Ë 3,000 L§0 

 (vi) ‹ŸŒÊ⁄UÙ¥ ∑§Ù Œÿ éÿÊ¡ 1,000 L§0 

 (vii) ‹ŸŒÊ⁄UÙ¥ ∑§Ù ¬˝Êåÿ Á’‹Ù¥ ∑§Ê ’øÊŸ 6,000 L§0 

 (viii) ‹ŸŒÊ⁄UÙ¥ mÊ⁄UÊ ¿ÍU≈U ŒË ªß¸ 2,000 L§0 – 

 Calculate closing balance of total creditors from the following 

information :  3 

 (i) Opening balance Rs. 10,000 

 (ii) Total purchases ( including credit purchases Rs. 80,000 ) 

Rs. 1,00,000 

 (iii) Cash payment to creditors Rs. 40,000 

 (iv) Bills payable accepted Rs. 15,000 

 (v) Purchases return Rs. 3,000 

 (vi) Interest due to creditors Rs. 1,000 

 (vii) Endorsement of bills receivable to creditors Rs. 6,000 

 (viii) Discount allowed by creditors Rs. 2,000. 
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17. ÁŸêŸÁ‹ÁπÃ ‚ÍøŸÊ•Ù¥ ‚ 31 ◊Êø¸, 2009 ∑§Ù ‚◊Ê# fl·¸ ∑§Ê ‹Ê÷-„UÊÁŸ Áflfl⁄UáÊ ’ŸÊßÿ —  

 (i) 1 •¬˝Ò‹, 2008 ∑§Ù ¬Í°¡Ë ‡Ê· 1,00,000 L§0 

 (ii) 31 ◊Êø¸, 2009 ∑§Ù ¬Í°¡Ë ‡Ê· 1,30,000 L§0 

 (iii) fl·¸ ∑§ Œı⁄UÊŸ 1,000 L§0 ¬˝ÁÃ ◊Ê„U ∑§Ê •Ê„U⁄UáÊ Á∑§ÿÊ  

 (iv) ÁŸ¡Ë •¢‡Ê 30,000 L§0 ◊¥ ’ø∑§⁄U ⁄UÊÁ‡Ê √ÿÊ¬Ê⁄U ◊¥ ‹ªÊÿË  

 (v) ‚ê¬ÁûÊ ’øŸ ¬⁄U ‹Ê÷ 5,000 L§0 „ÈU•Ê  

 (vi) ¬Í°¡Ë ¬⁄U éÿÊ¡ 10,000 L§0 ∞fl¢ •Ê„U⁄UáÊ ¬⁄U éÿÊ¡ 1,000 L§0 ÕÊ – 

 Prepare statement of profit & loss for the year ending 31st March, 

2009 from the following information : 3 

 (i) On 1st April, 2008 capital balance Rs. 1,00,000 

 (ii) On 31st March, 2009 capital balance Rs. 1,30,000 

 (iii) During the year drawings were Rs. 1,000 per month 

 (iv) After selling personal shares of Rs. 30,000 the amount was 

introduced in trade 

 (v) The profit earned Rs. 5,000 on assets sold 

 (vi) Interest on capital was Rs. 10,000 and interest on drawing was 

Rs. 1,000. 

18. ∑§Ê‹Ê Á‹0 Ÿ 10 L§0 flÊ‹ 1,000 ‚◊ÃÊ •¢‡Ê ¡éÃ ∑§⁄U Á‹∞ Á¡Ÿ ¬⁄U 8 L§0 ¬˝ÁÃ •¢‡Ê ◊Ê¢ª 
ªÿ Õ – ßŸ •¢‡ÊÙ¥ ¬⁄U 2 L§0 ¬˝ÁÃ •¢‡Ê ¬˝Õ◊ ◊Ê¢ª ∑§ ’∑§ÊÿÊ Õ – 

 •¢‡ÊÙ¥ ∑§Ê ¬ÈŸÁŸ¸ª̧◊Ÿ ÁŸêŸ ¬˝∑§Ê⁄U Á∑§ÿÊ ªÿÊ — 

  600 •¢‡Ê 11 L§0 ¬˝ÁÃ •¢‡Ê ¬ÍáÊ¸ ŒûÊ ◊ÊŸ∑§⁄U  

  400 •¢‡Ê 9 L§0 ¬˝ÁÃ •¢‡Ê [ 8 L§0 ¬˝ÁÃ •¢‡Ê ¬˝ŒûÊ ◊ÊŸ∑§⁄U ] 

 ©U¬⁄UÙQ§ ‹ŸŒŸÙ¥ ∑§Ë •Êfl‡ÿ∑§ ¡Ÿ¸‹ ¬˝ÁflÁCÔUÿÊ° ∑§ËÁ¡∞ – 
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 Kala Ltd. forfeited 1,000 equity shares of Rs. 10 each on which Rs. 8 
per share were called. On these shares Rs. 2 per share was 
outstanding of first call. 

 Shares were reissued as follows :  

  600 shares @ Rs. 11 per share as fully paid up 

  400 shares @ Rs. 9 per share [ as Rs. 8 per share paid up ]. 

 Give necessary Journal entries from the above transactions. 3 

19. ÷flÊŸË Á‹Á◊≈U«U Ÿ 100 L§0 flÊ‹ 1,000 — 8% •Áœ◊ÊŸ •¢‡ÊÙ¥ ∑§Ê 20% ¬˝ËÁ◊ÿ◊ ¬⁄U Ÿÿ 
‚◊ÃÊ •¢‡Ê ¬à̋ÿ∑§ 10 L§0 flÊ‹ 25% ¬˝ËÁ◊ÿ◊ ‚Á„UÃ ◊¥ ¬Á⁄UflÃ¸Ÿ ∑§⁄U∑§ ‡ÊÙœŸ Á∑§ÿÊ – 
•Êfl‡ÿ∑§ ¡Ÿ¸‹ ¬˝ÁflÁCÔUÿÊ° ∑§ËÁ¡∞ –  

 Bhawani Ltd. redeemed 1,000 — 8% preference shares of Rs. 100 each 
at 20% premium by conversion into new equity shares of Rs. 10 each 
including 25% premium. Make necessary Journal entries. 3 

20. ¬Á⁄UflÃ¸Ÿ‡ÊË‹ ‹ÊªÃ, ÁSÕ⁄U ‹ÊªÃ ∞fl¢ •h¸-¬Á⁄UflÃ¸Ÿ‡ÊË‹ ‹ÊªÃ ∑§ ŒÙ-ŒÙ ©UŒÊ„U⁄UáÊ  
Á‹Áπ∞ – 

 Write two examples each of variable cost, fixed cost and semi-variable 
cost. 3 

21. •, ’ •ı⁄U ‚ ◊¥ ‚ ’«∏UË ‚¢ÅÿÊ ∑§ıŸ-‚Ë „ÒU ? ç‹ÙøÊ≈¸U mÊ⁄UÊ ‚◊¤ÊÊß∞ –   
 Which is of the biggest value among A, B and C ? Explain through 

flowchart. 3 

22. ∞∑§ ∑§ê¬ŸË ∞Ä‚ •ı⁄U flÊß̧ ŒÙ ¬˝∑§Ê⁄U ∑§Ë flSÃÈ•Ù¥ ∑§Ê ÁŸ◊Ê¸áÊ ∑§⁄UÃË „ÒU – ÁŸêŸÁ‹ÁπÃ 
‚ÍøŸÊ•Ù¥ ‚ flSÃÈ•Ù¥ ∑§Ë ¬ÎÕ∑§-¬ÎÕ∑§ ◊Í‹ ‹ÊªÃ, ∑§Ê⁄UπÊŸÊ ‹ÊªÃ, ©Uà¬ÊŒŸ ‹ÊªÃ, ∑È§‹ 
‹ÊªÃ ∞fl¢ Áfl∑˝§ÿ ◊ÍÀÿ ôÊÊÃ ∑§ËÁ¡∞ ¡’Á∑§ ∑È§‹ ‹ÊªÃ ¬⁄U ‹Ê÷ 10% „ÒU — 

 ¬à̋ÿˇÊ ‚Ê◊ª˝Ë 2,10,000 L§0, ◊¡ŒÍ⁄UË 1,90,000 L§0, S≈UÙ‚̧ πø¸ ( •¬˝àÿˇÊ ‚Ê◊ª˝Ë ‚ 
‚ê’ÁãœÃ ) 1,05,000 L§0, ◊‡ÊËŸ πø¸ 22,000 L§0, ◊‡ÊËŸ ¬⁄U OÔUÊ‚ 11,000 L§0 üÊ◊ 
∑§ÀÿÊáÊ 57,000 L§0, ‚Ê◊Êãÿ ∑§Ê⁄UπÊŸÊ πø¸ 40,000 L§0, ¬˝‡ÊÊ‚ÁŸ∑§ √ÿÿ 32,000 L§0 
ÃÕÊ ÁflôÊÊ¬Ÿ √ÿÿ 48,000 L§0 „Ò¥U – ∑§ÊÿÊ¸‹ÿ √ÿÿ ∞fl¢ Áfl∑˝§ÿ √ÿÿ ∑§Ù ©Uà¬ÊÁŒÃ ß∑§ÊßÿÙ¥ ∑§ 
•ÊœÊ⁄U ¬⁄U ’Ê¢≈UŸÊ „Ò –  

 ©U¬⁄UÙQ§ πøÙZ ∑§Ê ÁflÃ⁄UáÊ ÁŸêŸ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ — 
   flSÃÈ∞° ∞Ä‚ flÊß̧ 

   ©Uà¬ÊÁŒÃ ß∑§ÊßÿÊ°  300 500 

   ‚Ê◊ª˝Ë πø¸ ¬˝ÁÃ ß∑§Êß¸ 2 3 

   üÊ◊ √ÿÿ ¬˝ÁÃ ß∑§Êß¸  3 2 

   ◊‡ÊËŸ ©U¬ÿÙª ¬˝ÁÃ ß∑§Êß¸ 2 1 
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 A company manufactures two types of goods X and Y. Calculate 
separately prime cost, works cost, cost of production, total cost and 
sales value of products from the following information, while profit on 

total cost is 10% : 

 Direct material Rs. 2,10,000, Wages Rs. 1,90,000, Stores Expenses 
( Relating to indirect material )  Rs. 1,05,000, Machine Expenses 
Rs. 22,000, Depreciation on Machine Rs. 11,000, Labour Welfare 
Rs. 57,000, General Factory Expenses Rs. 40,000, Administration 
Expenses Rs. 32,000 and Advertisement Expenses Rs. 48,000.  
Office & Selling Expenses are to be apportioned on the basis of units. 

 Make the distribution of the above expenses on the following basis :  

   Product X Y 

   Manufactured units 300 500 

   Material expenses per unit 2 3 

   Labour expenses per unit 3 2 

   Machine utilization per unit 2 1 

   6 

23. ÿ‡Ê Á‹Á◊≈U«U Ÿ ¬à̋ÿ∑§ 10 L§0 flÊ‹ 10,000 ‚◊ÃÊ •¢‡Ê 20% ¬˝ËÁ◊ÿ◊ ¬⁄U •ÊflŒŸ „UÃÈ 
¬˝Áflfl⁄UáÊ ¡Ê⁄UË Á∑§ÿÊ – ÷ÈªÃÊŸ ¬à̋ÿ∑§ 4 L§0 flÊ‹Ë ÃËŸ Á∑§SÃÙ¥ ◊¥ ∑˝§◊‡Ê— •ÊflŒŸ, ’¢≈UŸ ∞fl¢ 
¬˝Õ◊ fl •ÁãÃ◊ ◊Ê¢ª ¬⁄U Œÿ „ÒU – ¬˝ËÁ◊ÿ◊ •ÊflŒŸ ¬⁄U ◊Ê°ªÊ ªÿÊ – 25,000 •¢‡ÊÙ¥ ∑§ Á‹∞ 
•ÊflŒŸ Á◊‹ – ‚÷Ë •ÊflŒ∑§Ù¥ ∑§Ù ÿÕÊŸÈ¬ÊÃ ’¢≈UŸ Á∑§ÿÊ – ‚È⁄U‡Ê Ÿ 200 •¢‡ÊÙ¥ ¬⁄U ∑§fl‹ 
•ÊflŒŸ ⁄UÊÁ‡Ê „UË øÈ∑§ÊÿË – ‡Ê· ⁄UÊÁ‡ÊÿÊ° ÿÕÊ ‚◊ÿ ¬˝Ê# „UÙ ªÿË¥ – ‚È⁄U‡Ê ∑§ •¢‡Ê ¡éÃ ∑§⁄U 
Á‹ÿ ªÿ – ©Uã„¥U @ 12 L§0 ¬˝ÁÃ •¢‡Ê ¬⁄U ÃÈ·Ê⁄U ∑§Ù ¬ÈŸ— ÁŸª̧Á◊Ã ∑§⁄U ÁŒÿÊ – •ÊflŒŸ ¬⁄U ¬˝Ê# 
•ÁÃÁ⁄UQ§ ⁄UÊÁ‡Ê ∑§Ê ÁŸª¸Á◊Ã ◊ÍÀÿ Ã∑§ ©U¬ÿÙª Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „ÒU –  

 •Êfl‡ÿ∑§ ¡Ÿ¸‹ ¬˝ÁflÁCÔUÿÊ° ∑§ËÁ¡∞ – 
•ÕflÊ 

 ‡ÊÈ÷◊˜ Á‹Á◊≈U«U 5000 — 9% •Áœ◊ÊŸ •¢‡Ê ¬˝ÁÃ •¢‡Ê 100 L§0 ∑§Ê ‡ÊÙœŸ 10% ¬˝ËÁ◊ÿ◊ 
‚Á„UÃ Áfl∑§À¬ ∑§ •‹ÊflÊ ‚Ê◊Êãÿ ‚¢øÿ ‚ ∑§⁄UÃË „ÒU – fl„U •¬Ÿ •¢‡ÊœÊÁ⁄UÿÙ¥ ∑§Ù 10 L§0 flÊ‹ 
‚◊ÃÊ •¢‡ÊÙ¥ ◊¥ ¬Á̋Ã •¢‡Ê 20 L§0 ¬⁄U ¬Á⁄UflÃ¸Ÿ ∑§Ê Áfl∑§À¬ ŒÃË „ÒU – 50% •¢‡ÊœÊÁ⁄UÿÙ¥ Ÿ ß‚ 
Áfl∑§À¬ ∑§Ê ©U¬ÿÙª Á∑§ÿÊ – ∑§ê¬ŸË Ÿ 2,00,000 L§0 ◊ÍÀÿ ∑§ ÁflÁŸÿÙª 1,80,000  L§0  
◊¥ ’ø ÁŒÿ – 

 ¡Ÿ¸‹ ◊¥ •Êfl‡ÿ∑§ ¬˝ÁflÁCÔUÿÊ°U ∑§ËÁ¡∞ – 
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 Yash Ltd. issued prospectus inviting applications for 10,000 equity 
shares of Rs. 10 each at 20% premium. The payments are payable in 
three instalments of Rs. 4 each in Application, Allotment & First & 
Final calls respectively. The premium is called on applications. 
Applications are received for 25,000 shares. Allotment was made pro-
rata to all the applicants. Suresh paid only application money  
on 200 shares. Balance money were received on due date. Suresh's 
shares were forfeited. These shares were reissued to Tushar  
@ Rs. 12 per share. Excess Application Money received can be used up 

to issued price. 

 Pass necessary Journal entries. 

OR 

 Subham Ltd. redeems 5000 — 9% preference shares of Rs. 100 each 
including 10% premium from General Reserve except option. He gives 
an option to his shareholders to convert preference share into equity 
share of Rs. 10 each at Rs. 20 per share. 50% shareholders used this 

option. Company sold investment worth Rs. 2,00,000 for Rs. 1,80,000. 

 Pass necessary Journal entries. 6 

24. ŒË¬∑§ Ä‹’ ∑§ 500 ÁŸÿÁ◊Ã ‚ŒSÿ „Ò¥U, ¡Ù ¬à̋ÿ∑§ 10 L§0 ◊ÊÁ‚∑§ øãŒÊ ŒÃ „Ò¥U – Ä‹’ ∑§Ë 
’Ò¥∑§ ◊¥ @ 10% flÊÁ·¸∑§ éÿÊ¡ ¬⁄U 50,000 L§0 ∑§Ë SÕÊÿË ¡◊Ê „ÒU – Ä‹’ 500 L§0 ◊ÊÁ‚∑§ 
÷flŸ ∑§Ê Á∑§⁄UÊÿÊ øÈ∑§ÊÃË „ÒU – •ãÿ ‚ÍøŸÊ∞° ÁŸêŸÁ‹ÁπÃ „Ò¥ —  

 (i) 1 ¡Ÿfl⁄UË, 2009 ∑§Ù ⁄UÙ∑§«∏U ‡Ê· 2,500 L§0 „ÒU – 
 (ii) SÕÊÿË ¡◊Ê ¬⁄U 9 ◊Ê„U ∑§Ê éÿÊ¡ ¬˝Ê# „ÈU•Ê „ÒU – 
 (iii) 50 ‚ŒSÿÙ¥ Ÿ 2 ◊Ê„U ∑§ øãŒ ∑§Ê ÷ÈªÃÊŸ Ÿ„UË¥ Á∑§ÿÊ „ÒU – 
 (iv) ÁŒ‚ê’⁄, U2009 ◊Ê„U ∑§Ê ÷flŸ Á∑§⁄UÊÿÊ ’∑§ÊÿÊ „ÒU –  
 (v) 5,000 L§0 ∑§Ê »§ŸË¸ø⁄U Ÿ∑§Œ π⁄UËŒÊ –  
 (vi) flÃŸ ∞fl¢ S≈U‡ÊŸ⁄UË ¬⁄U ∑˝§◊‡Ê— 10,000 L§0 ∞fl¢ 2,000 L§0 øÈ∑§Êÿ – 

 31 ÁŒ‚ê’⁄U, 2009 ∑§Ù ‚◊Ê# fl·¸ ∑§Ê ¬˝ÊÁ# ∞fl¢ ÷ÈªÃÊŸ πÊÃÊ ÃÕÊ •Êÿ-√ÿÿ πÊÃÊ  
’ŸÊß∞ – 

•ÕflÊ  
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 ∞∑§ ‚¢SÕÊ ∑§Ê 31 ÁŒ‚ê’⁄U, 2009 ∑§Ù ‚◊Ê# fl·¸ ∑§Ê ¬˝ÊÁ# ∞fl¢ ÷ÈªÃÊŸ πÊÃÊ ÃÕÊ •ãÿ 
‚ÍøŸÊ∞° ÁŸêŸ ¬˝∑§Ê⁄U „Ò¥ —  

¬̋ÊÁ# ∞fl¢ ÷ÈªÃÊŸ πÊÃÊ 
 ¬̋ÊÁ#ÿÊ° ⁄UÊÁ‡Ê ÷ÈªÃÊŸ   ⁄UÊÁ‡Ê 
  L§0   L§0 
¬̋Ê⁄UÁê÷∑§ ‡Ê· 1,500 flÃŸ — 
øãŒÊ —   2008 1,500 

 2008 2,000   2009  11,500 13,000 

 2009 15,000  π‹ πø¸ 3,000 

 2010  1,000 18,000 ◊⁄Uê◊Ã πø¸ 1,000 

»§ŸË¸ø⁄U Áfl∑̋§ÿ  ¬ÈSÃ∑§Ù¥ ∑§Ê ∑˝§ÿ 5,000 

 ( ‹ÊªÃ 5,000 L§0 ) 3,000 ÁflÁflœ πø¸ 2,000 

SÕÊÿË ¡◊Ê ¬⁄U 8% éÿÊ¡ 4,000 •ÁãÃ◊ ‡Ê· 2,500 
         

  26,500  26,500 
         

 1 ¡Ÿfl⁄UË, 2009 ∑§Ù ÷flŸ ∑§Ê ◊ÍÀÿ 30,000 L§0 ∞fl¢ »§ŸË¸ø⁄U ∑§Ê ◊ÍÀÿ 15,000 L§0  
ÕÊ –  

 31 ÁŒ‚ê’⁄U, 2009 ∑§Ù flÃŸ ∑§ 500 L§0 ÃÕÊ øãŒ ∑§ 1,500 L§0 ’∑§ÊÿÊ Õ ÃÕÊ ’øÃ 
⁄UÊÁ‡Ê 500 L§0 ÕÊ – 

 ¬˝Ê⁄UÁê÷∑§ ∞fl¢ •ÁãÃ◊ Áø_ÔUÊ ’ŸÊß∞ – 
 There are 500 regular members of Deepak Club, each pays Rs. 10 

monthly towards subscriptions. The club has a fixed deposit of 
Rs. 50,000 in the bank @ 10% interest per annum. The club pays 
Rs. 500 as monthly rent for the building. Other information are as 
follows :  

 (i) Cash balance on 1st January, 2009 is Rs. 2,500. 
 (ii) Interest received for 9 months on the fixed deposit. 
 (iii) 50 members have not paid subscription of two months. 
 (iv) The rent of building for December, 2009 is outstanding. 
 (v) Furniture purchased Rs. 5,000 in cash. 
 (vi) Salary and stationery paid Rs. 10,000 and Rs. 2,000 respectively. 
 Prepare Receipts and Payments Account and Income & Expenditure 

Account for the year ending 31st December, 2009. 
OR 
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 Receipts & Payments Account and other information of an institution 

for the year ending 31st December, 2009 are as follows :  

Receipts and Payments A/c 

 
 Receipts Amount Payments   Amount 
  Rs.   Rs. 
To Balance b/d 1,500 By Salary : 

To Subscription :   2008 1,500 

 2008 2,000   2009  11,500 13,000 

 2009 15,000  By Sports Expenses 3,000 

 2010  1,000 18,000 By Repair 1,000 

To Furniture sold   By Books Purchase 5,000 

 ( Costing Rs. 5,000 ) 3,000 By Sundry Expenses 2,000 

To Interest 8% on fixed deposit 4,000 By Balance c/d 2,500 
         

  26,500  26,500 
         

 The value of building was Rs. 30,000 and value of furniture was 

Rs. 15,000 as on 1st January, 2009. 

 On 31st December, 2009, Salary Rs. 500 and Subscriptions Rs. 1,500 

were outstanding and surplus is Rs. 500. 

 Prepare Opening and Closing Balance Sheet. 6 

     


